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1. Obtain the full path model

Please note:  the “error” values aren’t obtained until you do the model comparison in Step 3
a. Using Stress as the criterion obtain the following:

R² for the model _______                                 error associated with Stress _________
	Variables
	Friend Social Support
	Family Social Support
	Trait 

Anxiety

	β
	
	
	


b. Using State Anxiety as the criterion obtain the following:

R² for the model _______                                 error associated with State Anxiety _________

	Variables
	Friend Social Support
	Family Social Support
	Trait 

Anxiety

	β
	
	
	


c. Using Depression as the criterion obtain the following:

R² for the model _______                                 error associated with Depression _________

	Variables
	Friend Social Support
	Family Social Support
	Trait 

Anxiety
	Stress
	State 

Anxiety

	β
	
	
	
	
	


d. Conclusions:
Identify direct effects upon depression in the model

Identify indirect effects upon depression in the model

2. Obtain the hypothesized (reduced)  path model

Please note:  the “error” values aren’t obtained until you do the model comparison in Step 3
e. Using Stress as the criterion obtain the following:

R² for the model _______                                 error associated with Stress _________

	Variables
	Trait 

Anxiety

	β
	


f. Using State Anxiety as the criterion obtain the following:

R² for the model _______                                 error associated with State Anxiety _________

	Variables
	Friend Social Support
	Family Social Support

	β
	
	


g. Using Depression as the criterion obtain the following:

R² for the model _______                                 error associated with Depression _________

	Variables
	Trait 

Anxiety
	Stress
	State 

Anxiety

	β
	
	
	


3. Compare the two models
a.  N = ___________      d = __________

      b.   Fit of full model _________   Fit of reduced model __________    Q ______  W ______     p _______
      c.   Conclusion:  Does removing the paths reduce the fit of the path model?   
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